Homework, Ch.3
1. Landsburg, Ch.3, Problem Set #13.

2. Landsburg, Ch.3, Problem Set #20.

3. Landsburg, Ch.3, Problem Set #31. (Consider that the same sales
tax rate is applied to all goods, and you care about “goods today"
and “goods next year" as defined in the problem.)

4. Landsburg, Ch.3, Problem Set #32.
5. i %5 E Cobb-Douglas ZUABKEL u(zy,z0) = 2§28, a,b € RT,

(a) MERESAREES [HFREL?

(b) FRaMEER—HEEBA.

(c) EHETE MRS (MV), XA x1, zy KFEE MRS,
(d) ZREFREE MMMERE]?

(e) FHiE ML IRAFHOMEE AR, MARRAR A IIAY 5 1.

(f) & I BBEEZENARE, p1, p. BWEVIMEER, FHEHREREE
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6. FHHERE bt ME, t > b, ERMEMBNEIEE: M = 1,/1,;, EF I
BIREE ] FHME. B M /NA Paache price index, Efi2® —JEE
BeHEsm 0.t MEF IR —EREHRARE?



